
HPU-5 WALL MOUNTING GASKET

Jacques P/N HW1022

HPU-5 WALL MOUNTING PLATE

Jacques P/N MW1042

ONE BUTTON HPU-5 TWO BUTTON HPU-5

REAR VIEWFRONT VIEW

ONE BUTTON MODELS TWO BUTTON MODELS

HPU-5E2-i

P/N 51131

HPU-5E2+-i

P/N 51688

VoIP Help/Info Point Unit

VoIP Help/Info Point JEM-2+ 

WMP-5 WALL MOUNTING KIT

Jacques P/N 51095 OPTIONAL EXTRA

HPU-5D2

P/N 51151

HPU-5G

P/N 50993

HPU-5E2

P/N 51130

HPU-5E2+

P/N 51687

Direct Dial Help Point Unit

GSM Direct Dial I/Com

VoIP Help Point Unit

HPU-5E2+ VoIP Help Point JEM-2+

Note: These installation details cover all listed models

above as well as other customisations and derivatives

of the HPU-5 family of  products.



MOUNTING DIMENSIONS

CABLE ENTRY

HPU-5 WALL MOUNTING GASKET

4 x M8-M10 LOCK NUTS

4 x M8-M10 FLAT WASHERS

(NOT SUPPLIED)

(NOT SUPPLIED)

MOUNTING SURFACE

WITH CUSTOM STUD 

HPU-5 HELP POINT UNIT BACK PLATE

STUD PATTERN

PATTERN

Jacques P/N HW1022

M8 or M10 THREAD SIZE

NOTE: STUD LENGTH IS CRITICAL.

ENSURE STUDS PROTURUDE NO MORE THAN 15 mm

INSIDE HPU-5 BACK PLATE.

FOR HPU-5G NO MORE THAN 11 mm.

HPU-5 HELP POINT 

FLAT SURFACE AREA

HPU-5 SHELL HARNESS WIRE

(SUPPLIED IN OPTIONAL WALL MOUNTING KIT

WMP-5 P/N 51095)



MOUNTING DIMENSIONS

CABLE ENTRY

HPU-5 WALL MOUNTING GASKET

4 x M8-M10 BOLTS

4 x M8-M10 FLAT WASHERS

(NOT SUPPLIED)

(NOT SUPPLIED)

METAL MOUNTING SURFACE

WITH TAPPED HOLE PATTERN

HPU-5 HELP POINT UNIT BACK PLATE

TAPPED HOLE PATTERN

Jacques P/N HW1022

Ø20

HPU-5 WALL MOUNTING PLATE

Jacques P/N MW1042

HPU-5 HELP POINT 

HPU-5 SHELL HARNESS WIRE

M5 x 16 SCREW POST BUTTON TORX S/S (x6)

(Jacques P/N HW934-SUPPLIED))

WASHER M5 NYLON RETAINED (x6)

(Jacques P/N HW361-SUPPLIED)

SUPPLIED IN OPTIONAL

WALL MOUNTING KIT

WMP-5 P/N 51095



MOUNTING DIMENSIONS

CABLE ENTRY

HPU-5 WALL MOUNTING GASKET

4 x M8-M10 DYNA BOLTS

(NOT SUPPLIED)

MASONRY WALL MOUNTING 

SURFACE WITH CUSTOM  STUD

HPU-5 HELP POINT UNIT BACK PLATE

HOLE PATTERN

PATTERN

Jacques P/N HW1022

Ø20

HPU-5 WALL MOUNTING PLATE

Jacques P/N MW1042

HPU-5 HELP POINT 

HPU-5 SHELL HARNESS WIRE

SUPPLIED IN OPTIONAL

WALL MOUNTING KIT

WMP-5 P/N 51095


